Recognizing Exponential Relationships Practice
(These are ACE questions. The number from the book is included so you can check your answers.)

15. Carmelita is planning to swim in a charity swim-a-thon. Several Twill give you $1 ifyou swim 1 lap, $3 ifyou

. . im 2 laps, $5 if swim 3 laps, $7 if
relatives said they would sponsor her. cwim 4 laps, and 50 on._Grandmother

. o . . Twill gi S1if’ im 1 lap, $3 if
a. Decide whether each donation pattern is an exponential i 2 Lo 5 W o owt's i, £ o
. . . . e . im 4 laps, and .—Fath
function, linear function, or neither. Filling in more of the B

table will help you recognize the pattern. Twill give you §2 i you swim 1 lap, $3.50 if

you swim 2 laps, $5 if you swim 3 laps, $6.50
if you swim 4 laps, and so on.—Aunt Josie

b. For each relative, write an equation.

T will give you $1 if you swim 1 lap, $2 if you
swim 2 laps, $4 if you swim 3 laps, $8 if you
swim 4 laps, and so on.—Uncle Sebastian

c. For each plan, tell how much money Carmelita will raise if

she swims 20 IapS. WOW! Thanks everyone for your support!—Carmelita
# of Laps Grandmother Father Aunt Josie Uncle Sebastian
1 1 2 1
b W . S ,,3 e IR I  Ne ¢
Y A IP L4 =710
2 3 - . \Nu2 3.50 o 2
. c 7% > %5 c 75 A 4
\ 19 Ny 2 A Y QL
s T A& rJ Y A 4
4 7 27 6.5 8
NS L 2 AN S 1= ) ¢
= q 7 kD 3 7 *i-9
\ ) 8| N . 2N | 5 g
6 S T L 7% 3 7 €t
I‘\;_g_ AL"%\-, Q'GSLI,{ v’
/ Sl 79 Z T3
7 ' 729 I
Linear Linear Linear Linear
a. Type of
relationship Exponential Exponential Exponential Exponential
(Circle one) Neither Neither Neither Neither

wl%

b. Equation %7- Y- | \,t?-'

(if there is one)

%=|.6><-+D,5’

3
= - - =|.9 +0.%
c. How much L | \a. Z V}«

will she make

?
Or201ps? | $20 |3, 10,201,47| % 20.5D




For Exercises 17-21, study the pattern in each table.

a. Tell whether the relationship between x and y is linear, exponential, or neither.

b. If the relationship is linear or exponential, write its equation. Make sure to test your equation

with one or more values from your table.
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51. The king tried to figure out the total number of rubas the peasant would receive under Plan 1.

Remember, for Problem 1 we were just calculating how many rubas
went on each square, not the total number that were on the chess board!

a. Fill the table up to square 10.

Square Number of Rubas Vetizl [ losty @
Rubas on the
Number on the square board
1 1 1 N
>¥3
2 2 3 \ .1
) %
3 7 N
x 1
> 3
6 ‘05
7 |27 [t is clear that there is no
8 255 constant growth factor, so
9 S| | this cannot be exponential.
10 1023

. We know that the relationship between the square number and the number of rubas on the square is

exponential.
Is the relationship between the square number and the total number of rubas on the board

exponential? Explain.

‘e rziadiorship behween syuaie number and dotxh runeer o
rulaa:{I:G @_‘_rtpqcpaznl-\ajk. See aleofe, neie = NO aonsrant
qroskh facior

. We know the equation for the Number of Rubas on a square (look back at Problem 1.2). Use that

equation to come up with a new one that will calculate the total number of rubas on the board.
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e. Suppose the king gave the peasant the reward she requested. How many Rubas would she receive?

(A chessboard has 64 squares!)
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